A B = R [] [1 A Q D, RA 0 PO
1 1 1 1 5 100% |UKRAINA 5 33% 1
0 1 0 1 0 2 40% |ESPANA 5 33% 10
0 1 0 1 1 3 60% |CROATIA 5 33% 7
0 1 0 1 2 50% |SUISSE 4 27% 9
1 1 0 1 3 75% |GREECE 4 27% 6
0 1 1 1 4 80% [Circolo Vela Muggia 5 33% 2
1 0 1 1 4 80% |Circolo Nautico Bardolino 5 33% 2
0 0 1 2 40% |LISOT 5 33% 10
0 0 0 0 0 0% |Nautical Club Palilula 5 33% 14
1 0 1 4 80% |Team Happy 5 33% 2
1 0 1 0 3 60% |PUERTO RICO 5 33% 7
0 0 1 1 20% |SLOVENIJA 5 33% 13
0 0 0 0 0 0% |XIl zona Veneto 5 33% 14
0 0 0 0 0% |GREAT BRITAIN 5 33% 14
0 1 1 1 1 4 80% |TURKEY 5 33% 2
0] 0] 0 1 1 2 40% |INCA TEAM 5 33% 10




